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- 1) Determine the solution set to the L(]Ulll()l]\ 2_g9y+'14=0.

A (X% Lo
{'\C U? 7‘ (x-2)-7(x-2)
TACTO o

’ XNk 70
2) Solve for x: Ei“ —sx 10 X=7-0 K=27 @)
X1 X=2
vy -
X X-10
_ )/\ ’><
= /C)
3) Solve for the roots of the equation byW{: x?—4x—-20=0
——— a4y = &0
g} =20 *L/
\ "I
C%9) VA< 1
- AV
- 4) Solve for all values of x: [2x— 11| =3
dx-n=3" T-(ar)=3 ﬁ@
_M_ TAXTYWED

= 4 ~ —\\
e i

5) State the center and radius of the cirele: (x —5)* + (y + 4)2 e

(ot 5, -4)
ool Jgy = 9

la: 9x2 —6x—11=0

Xz -(-b)X \J( DA @)A1

6) Solve for x by using the quadratic

V= - N p-4ac
0V N b-Hac

W 09 e G (-
’O‘:‘(_/)
=l X =

Scanned by CamScanner



7) Given f(x) = x—2 and g(x) = 8x find: l

a. 9(£(3)) b. g(f(¥)) e
F(2):3 g2 8 (x-3)
2

=gy 8] 3 x-1o

8) Simplify: 74/5 — 2\/_ V20
ﬂk Ja Vs
_ 7R als
NS —pr_3TE

Gy

9) Find the product of 7y* and —2y°®.

e Hﬂjﬁ‘jjr; 1S ﬂ%

-\A\
10) Find the domain of the function: f(x) = {(=52)(-4,1)(2,-3)}
X-valyes <
"S, -4, 9¢
11) Solve for x: to 3(5x P4) — 20 = 12x — 4
| S A2 -207 13X 9
\ S x -2 -\3 =
= \ 2 X
ED Et A |
T4 1 & -
12) Solve fory: \Jy —4+1=9
~ . : k) -
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16) De R . .
) Determine if the following are functions or not:

|
|

(V9]
b~
<

™
)
1

l

L

i
{

8V r @)
A
N

NGOy O
Honchon

17) Find the inverse function of f(x) = 3x — 10 and solve for f ~'(x) in terms of X.
e

quAth 7 R3UIG Zﬁ%@;f'(ﬁj

N
7( Al d 9 X110 :%
-
18) Factor each of the following complct@y: :
a. 3x3 4 36x%+96x 2 bé:zy - )g)é Zyxa+ 235

5 U8 A XYY -ax (yxe-
2% (x2r 1804 33) : _\) A Lye- 1)
@ %%QGKJ‘\"%?‘% (xfé?x)(yx,))

K(;(H—l) AT S N
A
ENETOID) e

19) Given't Io—\m funcfions:
f(x)—Zx —3x+4 g(x) =4x*+1 h(x) =x*-5

Find:
a. f(x)+h(x) b. g(x) - h(x)

I %2y () A %5 (dx*r) (x25)

GoBiT) At
,j\” ' E‘{ XA -19x%
c. Subtract f(x) from g(x) : d. h(x) — g(x)

. _( H4y? +\)
[ L1y ? ,CQ)LQ—?D;H"\) (x25)- (473
Lae?+1) o

Lix3p\ - ar>+5x-4 55

/& X2+ 2x- 3]
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